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QOIX MAHTSH(EX) 108,000 0 108,000
& 90,000
Al 18,000
402 RI2EX=20| M 108,000 0 108,000
& 90,000
Al 18,000
01 RIZERt2E X 108,000 0 108,000
OO XM AR =S 108,000
& 90,000
Al 18,000
TASUAXNANEFNEM(EX) 84,095 86,694 A 2,599
= 67,276
< 5,046
Al 11,773
301 et a =z 84,095 84,095 0
= 67,276
< 5,046
Al 11,773
MIIEE43 84,095 84,095 0
Oxd=cXNg HEXN=H Eo= 84,095
= 67,276
< 5,046
Al 11,773
LAY (EX) 6,240 5,346 894
< 2,080
Al 4,160
402 2I2H X201 A 6,240 5,346 894
< 2,080
Al 4,160
01 RIZEAt=2E X 6,240 5,346 894
O3 N 40,000 *2604f Xt *60% 6,240
< 2,080
Al 4,160
SMSHEMED 160,000 160,000 0
402 RIZ2FX201 A 160,000 160,000 0
01 RIZEAt2E X 160,000 160,000 0
OstsM2dED &X 160,000
SR YL 100,000 115,000 A 15,000
402 RIZ2EXt20l ™ 100,000 115,000 A 15,000
01 RIZERI 22X 100,000 115,000 A 15,000
OEHMEZHN =4 100,000
doSEsHSOILAS 2,300 2,600 2300
202 O4dl 1,500 2,000 A 500
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01 = LH o4 1l 1,500 2,000 A 500
OXNdESstEss4d X X0
75,000& x20H 1,500
301 L2 A S 800 600 200
09 HALAHIE& S 800 600 200
CANSEHE=sI HEU= 20,000 »40H 800
DHXNUHMH=STEZIISE(BEX) 324,000 0 324,000
= 270,000
Al 54,000
402 RI2HXt20l M 324,000 0 324,000
= 270,000
Al 54,000
01 QIZEAI 22X 324,000 0 324,000
ODHAXNUME=S IE2IEH 324,000
& 270,000
Al 54,000
UEASSY+ELHNSHE(EX) 216,000 0 216,000
& 180,000
Al 36,000
402 It X201 A 216,000 0 216,000
= 180,000
Al 36,000
01 2I2tR2E X 216,000 0 216,000
OZEYEs & ==L 216,000
= 180,000
Al 36,000
A R0 M A B = 143,500 124,000 19,500
402 2I2H X201 M 143,500 124,000 19,500
01 RIZEAI2E X 143,500 124,000 19,500
OstalletXl s4 X3 80,000
OJME 2FML XI&
28 12,000,000 258 x50%+= & 17,000,000 60,000
*103 *50%
O0|HH A8 ST HL MY
7,000,000& *1Z *50% 3,500
NELESMMUTAL(EX) 81,600 0 81,600
& 68,000
Al 13,600
402 QI2H X201 M 81,600 0 81,600
= 68,000
Al 13,600
01 2I2tRE2E X 81,600 0 81,600
OsaTHHHEX &4 81,600
= 68,000
Al 13,600
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2UANL=E 600,000 2,555,000 A 1,955,000
402 RI2FX=20| M 600,000 2,525,000 A 1,925,000
01 RIZEAI2E X 600,000 2,525,000 A 1,925,000
OJW&EZ HIItY dtA 600,000
ANAESIESHIL0IRA HX(BEX) 930,000 0 930,000
= 775,000
Al 155,000
402 RIZ2FXt20l ™ 930,000 0 930,000
& 775,000
Al 155,000
01 QIZERI 22X 930,000 0 930,000
OXNYEsESHIEdRA X 930,000
& 775,000
Al 155,000
ANE2W SEMNLAL(BEX) 6,249,925 4,408,258 1,841,667
J| 3,299,570
< 1,484,507
Al 1,465,848
402 RI2EXt20| ™ 6,249,925 4,408,258 1,841,667
J| 3,299,570
< 1,484,507
Al 1,465,848
01 BIZEAt=2 82 X 6,249,925 4,408,258 1,841,667
OANEZHUSEMNLAES 4,747,000
J| 3,274,000
< 1,473,000
ONERUSEMNLAS (EEE AlHl 012 ) 1,439,000
ODZ=HIJIE K& ALY 63,925
J| 25,570
< 11,507
Al 26,848
HAAE SUstAISE (2X) 27,500 0 27,500
= 11,000
Al 16,500
402 RI2EX=20l A 27,500 0 27,500
= 11,000
Al 16,500
01 QIZERI2E X 27,500 0 27,500
OHAAIE SRR 27,500
= 11,000
Al 16,500
CIMUTHOHAIE B2 X (EX) 38,000 0 38,000
J| 15,200
Al 22,800
402 RI2HXt20l M 38,000 0 38,000
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OsS4aE AU B 243X
2,000& *17,500A4 35,000
< 14,000
Al 21,000
SE0AE 285 N (EX) 1,200,000 480,000 720,000
& 750,000
Al 450,000
307 glz2+ol & 400,000 480,000 A 80,000
& 250,000
Al 150,000
02 QItFAEXZ 400,000 480,000 A 80,000
OMMTI=Zst & SEOHAHE -3 A
500,000, 000& *80% 400,000
& 250,000
Al 150,000
402 RI2EX=20| A 800,000 0 800,000
& 500,000
Al 300,000
01 RIZEAt2E X 800,000 0 800,000
OSEOAHE & ZFat JIBt2F ALY
1,000,000, 000& *80% 800,000
& 500,000
Al 300,000
GAPQI B =D HA S Al X&(EX) 27,642 0 27,642
= 19,346
= 2,489
Al 5,807
301 et d s 27,642 0 27,642
= 19,346
< 2,489
Al 5,807
NIEEd=s 27,642 0 27,642
OGAPRIE=Jt etEH ZAHl X ALY 27,642
= 19,346
< 2,489
Al 5,807
SUINSASFHE 360,000 642,200 A 282,200
< 70,000
Al 290,000
SIS, sASOHHE XA 130,000 127,000 3,000
307 21201 A 30,000 27,000 3,000
02 2InHFAEXS 30,000 27,000 3,000
O=2H alsegs It
2,000, 000& *50H & Xl 23] 20,000
OlF=HNESASAAL ZIIXE
2,000, 000& *50H & Xl 13l 10,000
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308 XHXIGH SO0l & 100,000 100,000 0
05 AXISHHZ2ZES S 100,000 100,000 0

OHNZIES s2EHSAMALHIS(HIANEEZ)
100,000,000 13| 100,000

=SEN 40,000 100,000 A 60,000
307 2iz2to| & 40,000 40,000 0
02 QI2t3 A X2 40,000 40,000 0

OsS4&E £=sAME WA

2,000,000& 50 & Ml ~43] 40,000

SEMELESINH(ER) 70,000 234,000 A 164,000
== 70,000

307 212t0| & 70,000 234,000 A 164,000
o 70,000

02 QIZ2tAAE X2 70,000 234,000 A 164,000
Ot ssME =E2FHl NS AMY 70,000
= 70,000

NEAZAAETYH 120,000 161,200 AN41,200
402 SI2FXHE0| & 120,000 161,200 AN41,200
01 QI2tXE2 X 120,000 161,200 AN41,200

OAAL2 sASIIZESH AMESEUSAME
30,000, 000 4l 2~ 120,000
[GESRNg =P 7,155,239 6,355,181 800,058
2 2,502,000
& 402,000
Al 4,251,239

o3 M2 77,872 78,832 A 960
101 Q121 H| 16,672 5,832 10,840
04 JI2ZtHIZ22NEES 16,672 5,832 10,840

OB NP ATH & M==AY oY
41,6803 x10H 10 x4 3] 16,672
201 gBt2A | 26,100 10,000 16, 100
01 AP 2t 2| bl 11,000 10,000 1,000
OslBd2A=sE X7 2el Ul YR
1,000,000& 53] 5,000
OslBd2A=H X+ 2l 500,000& x12& 6,000
02 Z2=2=24%4| 15,100 0 15,100
OdlEda2=sgXN+7 2des Hesg 2
1,500 %204 =150 4,500
OBl XNF M|, SaR2
500,000 x12& 6,000
Osl2 V=YX T 45t4+E 23
300,000 x12& 3,600
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OslEdasg X+ AL EHl =X 1,000
202 44l 2,000 3,000 A 1,000
01 SLHOIYI 2,000 3,000 A 1,000
Osleayy g4 & #x 0
100, 000& 5% 43| 2,000
206 = Hl 30,250 7,000 23,250
01 MHZ 4l 30,250 7,000 23,250
OslEzdasgil+ =88 & 72
7,500, 000& »23] 15,000
OsEdasgX7 422 M7
2,000,000& x23| 4,000
OslEzdasgils Rel2d veEg 2¢
1,500& x50 *150L 11,250
207 RO 2,850 3,000 A 150
02 ™ AR I 2,850 3,000 A 150
OXiclatai2¢e] EHOIX R+ 2,850
[ R=R=Fal 268,359 697,597 N 429,238
101 @124l 91,539 73,597 17,942
04 JIZHHZ2Z2XNHESE S+ 91,539 73,597 17,942
OFS2eB 5224 U 52 A2 22
JIZ2HA el 24 41,6803 1 +312< 13,005
OXielat HHASS3SE M= JI2H
24| 41,6803 x20H «252! 23] 41,680
OXiclat A sSs33E JAM=2 It
Kl et 68,6903 x4 52 43 5,496
OdlEgLZEE FXE FIART JI2HM 212d|
41,6803 «8H 30 10,004
OslEdelZsd SSst&a 2el JI2HM Al
41,6803 «2H 60 5,002
OdEdel3& M=z2el JI2td el
41,6803 x10& «102! 33 12,504
OslEdelZsd U=SIAEXELY JI2HH 1Al
68,6903 x4 22 +23] 1,100
OclE=H Z22el & M=EJIAHZY Q2]
68,6903 x10E x4 2 2,748
201 Let24d] 89,420 45,900 43,520
01 At 2teltl 20,300 12,500 7,800
OF22e|B2 sFA B U HABE 7Y 4,500
OsEdelZd =xtzel 95 ¢
600, 0003 »32+ A 1,800
OsEdelzd 82 EF & gz HE 6,500
OB S ARY 28 E37Y 5,000
Of=ZHaZe Ny 22 7Y 2,000
OslEdcsd 2els €84 37 2¢ 500
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02 2=22Z 4l 69,120 33,400 35,720
Ooedelsd dI|, S4Ra 32,600
OdEdel3d 4ot 23 14,000
OdEdelsd AlE & FUIRA 10,920
OslEdel & 2els AR veEx 2¢
1,500& *2,0004 3,000
O&IItE2e e Z 300,000& = 12& 3,600
OsEdel3d A2l
4,000,000 = 1CH 4,000
Osedel2d dSIKFXHl 1,000,000 *1CH 1,000
202 oddl 6,400 2,000 4,400
01 = LH 4 1l 6,400 2,000 4,400
OodE=SgEIOot2 aAls2a X0y 1,000
Osl8del 22X 5,400
206 M= Hl 48,600 34,900 13,700
01 =8l 48,600 34,900 13,700
OXielatitdAal 28t d 33 2=8H 2
5,000& *1,500% 7,500
OXclatitdASasdEd 2878 &8 2¢
7,000& *400 % 2,800
OXeltidASaSdEd s s e ¢
20,000& *50& *33] 3,000
OXclaRdEASaSEESE JIAHMAZTY Az
7 1,800& *1,0004 1,800
OslBdelsd =84 2  5,000& +700% 3,500
OXelAMASZH ZLE OFds ¢
800& +5,000=F 4,000
Osledel3d dlg & I 2¢
100,000& 158 1,500
Ooedelsd 2l stE7e
3,000& +1,500=F 4,500
OslEdelZd dEBA=E S8 st=2+¢
1,000& +3,0004 3,000
OslEdelsd =83+ & sz =sJI7 8
KHTH = & 50,000& *x40& 2,000
OclEdelsd sEASd(Re24d) HER
= 1,500& %2,000£ »5& 15,000
307 21201 A 2,400 2,400 0
05 QI &3 2,400 2,400 0
OoEdelsd 2els f3HAMHAZ
200,000 12& 2,400
401 Al BIZ 201 8I 30,000 530,000 A 500,000
01 A& HI 30,000 530,000 A 500,000
OXleldh siEde| e L AIESE | 30,000
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NAH=ABHEIHAHSH(RE) 1,054,000 1,202,000 148,000
2 652,000
< 402,000
307 glz2tol & 490,000 540,000 A 50,000
2 251,000
< 239,000
02 QItFAE XS 490,000 540,000 A 50,000
OGS EAZSZSAH ASEHR2Y 90,000
2 45,000
= 45,000
OslE&a0sI ns & AOoIL 10,000
& 5,000
< 5,000
Osl=0lss ZA L RID 170,000
2 85,000
< 85,000
OslENE 220 E 130,000
2 71,000
< 59,000
OXZLIAe HeX= 70,000
& 35,000
< 35,000
OMEZ2I# g 20,000
2 10,000
= 10,000
402 RI2EX=01 M 564,000 662,000 98,000
& 401,000
< 163,000
01 RIZERI=2E X 564,000 662,000 98,000
OdlEtSg ML & 564,000
2 401,000
= 163,000
XelarH 2 (ReladsBde 248 )(2X) 5,500,000 3,000,000 2,500,000
= 1,750,000
Al 3,750,000
401 Al HI L 2 THHI 5,500,000 3,000,000 2,500,000
2 1,750,000
Al 3,750,000
01 A& HI 5,408,700 2,689,200 2,719,500
OslEssET Y AF ALY
5,500,000,000& *98. 34% 5,408,700
= 1,750,000
Al 3,658,700
02 2feltl 77,550 300,000 A 222,450
OodE=gEIot2 &= Zeltl
5,500,000,000& *1.41% 77,550
03 A& =2 THHI 13,750 10,800 2,950
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OclESg&nora A= AlZ204
5,500,000,000& *0.25% 13,750
SIE=H 55,008 26,752 28,256
101 @124 dl 25,008 26,752 NT1,744
04 DIt Z2XEES 25,008 24,495 513
OZ&xd el 41,680 «20H x 102! x33] 25,008
307 21201 A 30,000 0 30,000
02 QB AEXS 30,000 0 30,000
OAMAZ =M ZA0HE X
10,000, 000& *33l 30,000
SOt WS AIEAIE(EX) 200,000 0 200,000
& 100,000
Al 100,000
401 Al HIZ 201 8] 200,000 0 200,000
& 100,000
Al 100,000
01 A& HI 198,560 0 198,560
OHEUZt USEA AIB A
200,000,000& *99.28% 198,560
& 100,000
Al 98,560
03 A& =TI 1,440 0 1,440
OHEUZt WEA AIBE ALY
200,000,000& *0.72% 1,440
== M DB = 3,184,250 4,580,250 A 1,396,000
& 495,000
J| 573,000
< 135,000
Al 1,981,250
EEMASTIES 1,300,000 1,300,000 0
402 RI2EX=20l A 1,300,000 1,300,000 0
01 RIZEAI2E X 1,300,000 1,300,000 0
OZTMAEHT &4 1,300,000
ES0tHAE=H 100,000 150,000 A 50,000
402 BIZEXtE0| A 100,000 150,000 A 50,000
01 RIZEAI 22X 100,000 150,000 250,000
O==0F MASIIZL 2t XA 100,000
NEE =44 XA 260,000 130,000 130,000
402 RI2EXt20l ™ 260,000 130,000 130,000
01 2I2tX2E X 260,000 130,000 130,000
Ot U=E ATEAZY 0N X 180,000
Ot M2l ol X 40,000
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P2 HAH 1,164,200 64,800 1,099,400
= 1,000,000
Al 164,200
B SEE ZeAH X4 1,134,200 64,800 1,069,400
= 1,000,000
Al 134,200
201 Lty 11,200 43,200 ~.32,000
01 At 2 el 11,200 13,200 A2,000
OISt 5,200
ofgay 6,000
202 01 H] 4,000 5,600 A1,600
01 2404 bl 4,000 5,600 A 1,600
OJIYRA, HXOY, HEXA S 4,000
203 YR = H| 1,000 1,000 0
03 Al =X Ty 1,000 1,000 0
OTEZHAH LAY AMEH 1,000
307 @I12t0| ® 118,000 15,000 103,000
2 oABABES 118,000 15,000 103,000
Ole~AES)ORQ AR L 22X ALY 7,000
Ole-ArTS)ESXNE XA 7,000
OSXE  SEILs XL 4,000
OSTZAY AGE 29 100,000
401 AlEHI L 2| 1,000,000 0 1,000,000
= 1,000,000
01 Al& bl 986,700 0 986,700
OINZIZZME (Y EMNPEHAH =4H)
1,000,000,000! *98.67% 986,700
= 986,700
02 Zelbl 9,700 0 9,700
OINZIZZME (S Y EMNYSHAEH =4H)
1,000,000, 000! *0.97% 9,700
= 9,700
03 Al& S T 3,600 0 3,600
OINZIZZME (S Y EMNYSHAH =4)
1,000,000, 000! *0. 36% 3,600
= 3,600
ZEA SHEEZ AOIU 30,000 0 30,000
201 YLt A Y| 30,000 0 30,000
03 A2 2 H 30,000 0 30,000
OXEZ SIFEZ MOILL N 30,000
#HN2 A 153,201 140,877 12,324
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ol 2 gl 84,701 74,477 10,224
ol 2A| 84,701 74,477 10,224
101 @14 Hl 84,701 74,477 10,224
03 RIAHAZZ2 T+ 84,701 74,477 10,224
OYREX(HAEX 1¥) 25,383
22 1,088,890 x12& 14 13,067
a0z 1,088, 890& *400% 4,356
sl 120,000& 128 »1H 1,440
M Z AlH| 130,000& x12& x1H 1,560
NEEE RS
6,621 «15A1 2«1 5«12 »1H 1,788
HESIOHHI(E, F4)
1,088,890& *120%*1H 1,307
) gl 52,9683 10 «1H 530
FAd222(FH) 52,9683 1.5%10 795
2aag 540
OolEdel(AMds2el 29) 59,318
A= 1,240,000& 123 x2H 29,760
o0z 1,240,000& *400%*2H 9,920
eS| 120,000& 12& »2H 2,880
g Mz AH| 130,000& =128 »2H 3,120
ANZte 2R+
7,5123 «15A1 2t +1. 58 x 122 »2H 4,057
HESIOHI(E,F4)
1,240,000& *120%*2H 2,976
HOFE &Y 60,0963 10 x2H 1,202
2222 (5H)
60,0063 *1.5x10 x2H 1,803
o2&+ 1,920
IIEL (A1, XHH2) 960
A= (28) 30,000 128 «2H 720
JlE3l 68,500 66,400 2,100
ol =l 68,500 66,400 2,100
201 -4 40,200 40,200 0
01 At 22l 40,200 40,200 0
Oz &l 7,000
Oget=gH| 27,000
OslEdel LAY 50,000 «62 »2H 6,200
202 (44l 24,100 22,000 2,100
01 S LHOIYI 24,100 22,000 2,100
O=UW A bl 24,100




2N
X ZH -
L= B

el

Holst =2
HH2HZH

Jl=23tl

% 5 - 4
SN ED B (3H) - MEAY - BAS ol &k o8 &lgﬁ
203 € R F & 4,200 4,200
04 EASHEIRFAH| 4,200 4,200
OFNMSIERF=EH| 350,000 x12&

4,200




